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MAC 2311 - Analytical Geometry and Calculus I
{\f( 3\ Quiz # 7, October 19, 2023
TR
Problem 1 A ladder 13 meters long rests on horizontal ground and leans against a vertical wall.

The top of the ladder is being pulled up the wall at 0.1 meters per second. How fast is the foot
of the ladder approaching the wall W%n the foot of the ladder is 5 m from the wall?
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Problem 2 .
@
2 a.) Use linear approximation of f(x) = /x at a =8 to find an approximate value for f(7.76).
| s o
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‘;LQOU\}/\ b.) Find an approximate value for In(2.6) using linear approximation. (Hint e ~2.718281... .)
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